On a Subclass of Analytic Functions Related with Janowski Functions

Muhammad Arif¹, Saima Mustafa², Khalid Khan³

¹Department of Mathematics, Abdul Wali Khan University Mardan

²Department of Mathematics, Pir Mehr Ali Shah Arid Agriculture University, Rawalpindi, Pakistan

³Department of Science and Information Technology Govt; KPK, Peshawar, Pakistan

marifmaths@hotmail.com (M. Arif), saimamustafa28@gmail.com (S. Mustafa), khalidsa02@gmail.com (K. Khan)

Abstract. In this paper, we introduce a subclass of analytic functions by using the well-known Hadamard product along with Janowski functions. Some inclusion results, radius of univalence and other interesting properties of this class are discussed.

[Arif M, Mustafa S and Khan K. **On a Subclass of Analytic Functions Related with Janowski Functions.** *Life Sci J* 2012;9(4):3756-3762] (ISSN:1097-8135). http://www.lifesciencesite.com. 557

because

Key Words: Convolution, Carlson and Shaffer operator, close-to-convex functions. **2010 AMS Subject Classification:** 30C45, 30C10.

1. Introduction

Let A be the class of analytic functions f

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$
 (1.1)

defined in the open unit disk $E = \{z : |z| < 1\}$. The class A is closed under the convolution or (Hadamard product)

$$(f * g)(z) = \sum_{n=2}^{\infty} a_n b_n z^{n+1}, \ a_0 = b_0 = 1, \ z \in E,$$

where

$$f(z) = \sum_{n=0}^{\infty} a_n z^{n+1}$$
 and $g(z) = \sum_{n=0}^{\infty} b_n z^{n+1}$.

In particular, we consider the convolution with incomplete beta function $\phi(d,c,z)$, related to Gauss hypergeometric function [1] by

$$\phi(d,c,z) = z {}_{2}F_{1}(1,d,c,z) = \sum_{n=0}^{\infty} \frac{(d)_{n}}{(c)_{n}} z^{n+1},$$
(1.2)

$$z \in E, c \neq 0, -1, -2, \dots,$$

where (d) denotes the Pochhammer symbol given by

$$(d)_n = \begin{cases} 1, & n = 0, \ d \in \mathbb{C} \setminus \{0\}, \\ a(a+1), \cdots (a+n-1), \ n \in \mathbb{N}. \end{cases}$$

Note that $\phi(d, 1, z) = \frac{z}{(1-z)^d}$ and $\phi(2, 1, z)$

is the Koebe function, see [2].

Carlson and Shaffer [3] defined a convolution operator on *A* involving an incomplete beta function as

$$L(d,c)f = \phi(d,c,z) * f$$
, $f \in A$, $z \in E$. (1.3)

It follows from (1.2) and (1.3) that,

$$z(L(d,c)f(z))' = dL(d+1,c)f(z) \\ -(d-1)L(d,c)f(z). \qquad (1.4)$$
 If $d=0,-1,-2,...$, then $L(d,c)f$ is a polynomial. If $d\neq 0,-1,-2,...$, then application of the root test shows that the infinite series for $L(d,c)f$ has the same radius of convergence as that for f

$$\lim_{n\to\infty}\left|\frac{(d)_n}{(c)_n}\right|^{\frac{1}{n}}=1.$$

Hence L(d,c) maps A into itself. L(d,d) is the identity and if $d \neq 0,-1,-2,\cdots$, then L(d,c) has a continuous inverse L(c,d) and is a one-to-one mapping of A onto itself. L(d,c) provides a convenient representation of differentiation and integration. If g(z) = zf'(z), then g = L(2,1)f and f = L(1,2)g. In [4], Janowski introduced the class P[A,B], for A and $B, -1 \leq B < A \leq 1$, if and only if for $z \in E$, a function p, analytic in E with p(0) = 1 belongs to the class P[A,B] if

$$p(z) = \frac{1 + Aw(z)}{1 + Bw(z)},$$

where w(z) is an analytic function in E, with w(0) = 0, and |w(z)| < 1.

We note that P[-1,1] = P, the class of functions with positive real part consists of functions

p with $\operatorname{Re} p(z) > \alpha$. Also it can be clearly seen that $P[A,B] \subset P(\beta)$, $\beta = \frac{1-A}{1-B}$, therefore, we have

$$p(z) = (1 - \beta)p_1(z) + \beta, p_1 \in P.$$
 (1.5)

Let $P_k[\alpha,A,B]$ denote the class of functions p that are analytic in E with p(0)=1 and are represented by

$$p(z) = \left(\frac{k}{4} + \frac{1}{2}\right) p_1(z) - \left(\frac{k}{4} - \frac{1}{2}\right) p_2(z), \quad (1.6)$$

where $p_1, p_2 \in P[\alpha, A, B], -1 \le B < A \le 1$,

 $0 \le \alpha < 1, k \ge 2$. It is clear that

$$P_{k}[\alpha, A, B] \subset P_{k}[A, B] \subset P_{k}(\beta),$$

$$\beta = \frac{1 - A_{1}}{1 - B_{1}}, \ A_{1} = (1 - \beta)A + \beta B$$

and $P_k[1,-1]=P_k$ [5]. For k=2, the class $P_k[\alpha,A,B]=P_2[\alpha,A,B]$ was introduced by [6]. We will assume throughout our discussion, unless otherwise stated, that $d\neq 0,-1,-2,\cdots,$ $c\neq 0,-1,-2,\cdots,$ $-1\leq B< A\leq 1$, $0\leq \alpha<1$ and $z\in E$.

By using a linear operator L(d,c), we define the following analytic classes.

Definition 1.1. Let $f \in A$, $z \in E$. Then $f \in C_{d,c}[\alpha, A, B]$, if and only if

$$\frac{(z(L(d,c)f(z)')'}{(L(d,c)f(z))'} \in P[\alpha,A,B]. \quad (1.7)$$

From (1.7), it is clear that

 $f \in C_{d,c}[\alpha, A, B] \Leftrightarrow L(d,c)f \in C[\alpha, A, B] \subset C$

Similarly, $f \in S_{d,c}^*[\alpha, A, B]$, if and only if,

$$L(d,c)f \in S^*[\alpha,A,B] \subset S^*.$$

Definition 1.2. Let $f \in A$. Then $f \in Q_k^{d,c}[\beta,\alpha,A,B]$, if and only if, for $\beta \ge 0$,

$$\left\{ (1-\beta) \frac{z(L(d,c)f(z))'}{(L(d,c)g(z))} + \beta \frac{(z(L(d,c)f(z)')'}{(L(d,c)g(z))'} \right\} \in P_k[\alpha, A, B],$$
(1.8)

for some $g \in C_{d,c}[\alpha, A, B]$.

By varying the parameters c, d, α , β , A and B in the class $Q_k^{d,c}[\beta,\alpha,A,B]$, we get different subclasses of analytic and univalent

functions studied earlier by various authors, see for example [7-12].

2. Preliminary Lemmas

Lemma 2.1 [13]. Let $0 < d \le c$ and $d \ge 2$ or $c+d \ge 3$. Then the function

$$\varphi(d,c)(z) = \sum_{n=0}^{\infty} \frac{(d)_n}{(c)_n} z^{n+1}, z \in E$$

is in the class C of convex univalent functions.

Lemma 2.2 [13]. Let $f \in C$ and $g \in S^*$. Then for every function F analytic in E with F(0) = 1, we have

$$\frac{(f*Fg)}{(f*g)}(E)\subset \overline{co}(F(E)),$$

where co(F(E)) denotes the closed convex hull of F(E).

Lemma 2.3 [14]. Let $u = u_1 + iu_2$, $v = v_1 + iv_2$ and let $\Psi(u, v)$ be a complex-valued function satisfying the following conditions:

- 1) $\Psi(u,v)$ is continuous in a domain $D \subset \mathbb{C}^2$,
- 2) $(1,0) \in D$ and $Re(\Psi(1,0)) > 0$,
- 3) Re($\Psi(iu_2, v_1) \le 0$, whenever $(iu_2, v_1) \in D$ and $v_1 \le \frac{-1}{2}(1 + u_2^2)$.

If $p(z) = 1 + \sum_{m=1}^{\infty} c_m z^m$ is a function analytic in E, such that $(p(z), zp'(z)) \in D$, $z \in E$ and $\text{Re}(\Psi(p(z), zp'(z)) > 0$ for $z \in E$, then Re p(z) > 0 in E.

3. Main Results

In this section, some properties of the class $Q_k^{d,c}[\beta,\alpha,A,B]$ such as inclusion results, second coefficient bound, its invariant property under convolution with the convex function, covering theorem and radius problem will be discussed.

Theorem 3.1. If
$$0 < c \le d$$
, $d \ge \min[2, 3 - c]$ and if $0 < a \le c$, $c \ge \min[1, 1 - a]$, then $Q_k^{d,c}[\beta, \alpha, A, B] \subset Q_k^{d,a}[\beta, \alpha, A, B]$ $Q_k^{d,a}[\beta, \alpha, A, B] \subset Q_k^{c,d}[\beta, \alpha, A, B]$.

Proof. To prove the first inclusion, we proceed as follows:

(i) Let
$$f \in Q_k^{d,c}[\beta,\alpha,A,B]$$
. Now

$$(1-\beta)\frac{z(L(d,a)f(z))'}{L(d,a)g(z)} + \beta\frac{(z(L(d,a)f(z))')'}{(L(d,a)g(z))'}$$

$$= (1 - \beta) \frac{z * [(\phi(d,c) * \phi(c,a) * f)]'}{(\phi(d,c) * \phi(c,a) * g)} + \beta \left[\frac{[(z(\phi(d,c) * \phi(c,a) * f)']'}{\phi(d,a) * \phi(c,a) * g)'} \right]$$

$$= (1 - \beta) \left[\frac{\phi(c,a) * \frac{N}{D} (\phi(d,c) * g)}{(\phi(c,a) * \phi(d,c) * g)} \right]$$

Since, from Lemma 2.1, $\phi(c,a)$ is convex, therefore by using Lemma 2.3 to see that the right hand side of (3.1) is contained in the convex hull of the image of E under $[(1-\beta)\frac{N}{D}+\beta\frac{N'}{D'}]$ with $N(z)=z(\phi(d,c)*f)'$,

 $+\beta \left| \frac{\phi(c,a) * \frac{N'}{D'} (\phi(d,c) * zg')}{\phi(c,a) * \phi(d,c) * g')} \right|. (3.1)$

$$D(z) = \phi(d,c) * g \in C[\alpha,A,B] \subset C \subset S^*$$
.

This implies $f \in Q_k^{d,a}[\beta,\alpha,A,B]$ for $z \in E$ and the proof of (i) is complete.

The proof of the second inclusion is similar to that of the first part.

Theorem 3.2. Let

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in Q_k^{d,c}[\beta, \alpha, A, B]. \quad \text{Then}$$
$$\left| a_2 \right| \le \frac{(1-\alpha)(A-B)(c)(k+1+\beta)}{4d(1+\beta)}.$$

The equality, with $\alpha = 0$, A = 1, B = -1, occurs for $f_{\alpha}(z)$, given by

$$F_{0}(z) = L(d,c)f_{0}(z), G_{0}(z) = L(d,c)g_{0}(z) = \frac{z}{1-z},$$

$$p_{0}(z) = (1-\beta)\frac{zF_{0}(z)}{G_{0}(z)} + \beta\frac{(zF_{0}(z))'}{G_{0}(z)},$$

$$= \left(\frac{k}{4} + \frac{1}{2}\right)\frac{1+z}{1-z} - \left(\frac{k}{4} - \frac{1}{2}\right)\frac{1-z}{1+z}.$$

Proof. Let $L(d,c)g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ and

$$p(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$$
. Since $g \in C_{d,c}[\alpha, A, B]$

and $p \in P_k[\alpha,A,B]$, it easily follows from known results [4] that $\left|c_n\right| \leq \frac{k}{2}(1-\alpha)(A-B)$, n>1 and

$$|b_2| \le \frac{(1-\alpha)(A-B)}{2}$$
.

Nov

$$(1-\beta)\left[z+\sum_{n=2}^{\infty}\frac{n(d)_{n-1}}{(c)_{n-1}}a_{n}z^{n}\right]\left[1+\sum_{n=2}^{\infty}nb_{n}z^{n-1}\right] +\beta\left[1+\sum_{n=2}^{\infty}\frac{n^{2}(d)_{n-1}}{(c)_{n-1}}a_{n}z^{n-1}\right]\left[z+\sum_{n=2}^{\infty}b_{n}z^{n}\right]$$

$$= [1 + \sum_{n=2}^{\infty} c_n z^n][z + \sum_{n=2}^{\infty} b_n z^n][1 + \sum_{n=2}^{\infty} n b_n z^{n-1}].$$

Equating coefficient of z^2 on both sides, we have $\frac{[2(1-\beta)d + 4\mu\beta]}{a_2} = -2(1-\beta)b_2$

$$-\beta b_2 + 3b_2 + c$$

or

$$\frac{2d(1+\beta)}{c} |a_2| \le (1+\beta) |b_2| + |c_1|.$$

Using the coefficient bounds of $|b_2|$ and $|c_1|$ as given earlier, we have

$$\frac{2d(1+\beta)}{c} |a_2| \le \frac{(1+\beta)(1-\alpha)(A-B)}{2} + \frac{k}{2}(1-\alpha)(A-B)$$
$$= \frac{1}{2}(1-\alpha)(A-B)[k+1+\beta].$$

That is

$$\left|a_2\right| \le \frac{(1-\alpha)(A-B)(c)(k+1+\beta)}{4d(1+\beta)}.$$

This completes the proof.

Special Case

We note that for A=1, B=-1, $\alpha=0$, we have coefficient bound for the class $B_2^{\alpha}(a,c)$, see [15].

The next result shows that the class $Q_k^{d,c}[\beta,\alpha,A,B]$ is closed under convolution with convex functions in E.

Theorem 3.3. Let $f \in Q_k^{d,c}[\beta,\alpha,A,B]$ and let

 Ψ be convex univalent in E. Then $(\Psi * f) \in Q_k^{d,c}[\beta,\alpha,A,B]$ in E.

Proof. We first show, that for $g \in C_{d,c}[\alpha, A, B]$,

 $(\Psi * g)$ also belongs to $C_{d,c}[\alpha,A,B],$ which implies that

$$L(d,c)g \in C[\alpha,A,B] \subset C.$$

So

 $(\Psi * L(d,c)g) = L(d,c)(\Psi * g) \in C[\alpha, A, B].$

$$N(z) = z(L(d,c)f(z))',$$

$$D(z) = L(d,c)g(z), D \in C$$

and therefore starlike in E. Since

$$\frac{z(L(d,c)(\Psi * f)'(z)}{L(d,c)(\Psi * g)(z)} = \frac{\Psi * \frac{N}{D}(L(d,c)g)(z)}{(\Psi * L(d,c)g)(z)}$$

and so it is in the convex hull of the image of E under $\frac{N}{D}$. Similarly,

$$\frac{(z(L(d,c)(\Psi * f)')'(z)}{(L(d,c)(\Psi * g))'(z)}$$

is in the convex hull of E under $\frac{N}{D}$. Since $P_{\iota}[\alpha,A,B]$ is a convex set, it follows that

$$\left\{ (1-\beta)\frac{N}{D} + \beta \frac{N'}{D'} \right\} \in P_k[\alpha, A, B]$$

and consequently

$$(\Psi * f) \in Q_k^{d,c}[\beta,\alpha,A,B]$$
 for $z \in E$.

Remark 3.1. (i) It follows from Theorem 3.3 that the class $Q_k^{d,c}[\beta,\alpha,A,B]$ is invariant under the integral operators defined by $f_i(z)$, i=1,2,3,4

(i)
$$f_1(z) = (\phi_2 * f)(z) = \frac{2}{z} \int_0^z f(t) dt, \phi_1(z) = -\frac{2}{z} [z + \log(1 - z)],$$

(ii) $f_2(z) = (\phi_1 * f)(z) = \int_0^z \frac{f(t)}{t} dt, \ \phi_2(z) = -\log(1 - z),$
(iii) $f_3(z) = (\phi_4 * f)(z) = \frac{1 + c}{z^c} \int_0^z t^{c-1} f(t) dt, \phi_3(z) = \sum_{n=1}^{\infty} \frac{1 + c}{n + c} z^n, (\operatorname{Re} c > -1)$
(iv) $f_4(z) = (\phi_3 * f)(z) = \int_0^z \frac{f(t) - f(tx)}{t - tx} dt, |x| \le 1, \phi_4(z) = \frac{1}{1 - x} \log \frac{1 - xz}{1 - z}$

Since $\phi_i \in C$, the proof is immediate when we apply Theorem 3.3.

(ii) Let D_1, D_2 be the linear operators defined on the class A, as follows:

$$D_1(f) = zf'$$
, [2], $D_2(f) = \frac{(zf)'}{2}$, [16].

Both of these operators can be written as $D_i(f) = h_i * f$, where

$$h_1(z) = \sum_{n=1}^{\infty} nz^n = \frac{z}{(1-z)^2},$$

and

$$h_2(z) = \sum_{n=1}^{\infty} \frac{(n+1)}{2} z^n = \frac{z - \frac{z^2}{2}}{(1-z)^2}.$$

We note that the radius of convexity of h_1 and h_2 are

$$r_c(h_1) = 2 - \sqrt{3}$$
 and $r_c(h_2) = \frac{1}{2}$.

Thus, it follows from Theorem 3.3 that, if $f \in Q_k^{d,c}[\beta,\alpha,A,B]$, then

$$D_1(f) \in Q_k^{d,c}[\beta,\alpha,A,B]$$

for
$$|z| < 2 - \sqrt{3}$$
 and

$$D_2(f) \in Q_k^{d,c}[\beta,\alpha,A,B]$$
 for $|z| < \frac{1}{2}$.

In the next result, we shall use the notation

$$Q_k^{d,c}[\beta,\alpha,1,-1] = Q_k^{d,c}(\beta,\alpha).$$

Theorem 3.4. For $\beta \ge 0$,

$$Q^{d,c}(\beta,\alpha) \subset Q_k^{d,c}(0,\alpha_1),$$

$$\alpha_1 = \frac{2\alpha + \beta \delta_1}{2 + \beta \delta_1}, \ \delta_1 = \frac{\operatorname{Re} h_0(z)}{|h_0(z)|}, \quad (3.2)$$

and

$$h_0(z) = \frac{z(L(d,c)g(z))'}{L(d,c)g(z)}, \ L(d,c)g(z) \in C.$$

Proof. The case $\beta = 0$ is trivial, so we suppose $\beta > 0$. Let $f \in Q_k^{d,c}(\beta,\alpha)$ and let $\frac{z(L(d,c)f(z))'}{L(d,c)g(z)} = h(z)$ $= \left(\frac{k}{4} + \frac{1}{2}\right)h_1(z) - \left(\frac{k}{4} - \frac{1}{2}\right)h_2(z), \quad (3.3)$

for some $L(d,c)g \in C(\alpha) \subset C \subset S^*$.

Differentiate (3.3) logarithmically, we have

$$\frac{(z(L(d,c)f(z))')'}{(L(d,c)g(z))'} = h(z) + \frac{zh'(z)}{h_0(z)}$$

with
$$h_0 = \frac{z(L(d,c)g(z))'}{L(d,c)g(z)} \in P(\alpha).$$

Since $f \in Q_k^{\lambda,\mu}(\beta,\alpha)$, we have

$$(1-\beta)h(z) + \beta \left(h(z) + \frac{zh'(z)}{h_0(z)}\right)$$

$$= \left(h(z) + \frac{\beta zh'(z)}{h_0(z)}\right) \in P_k(\alpha),$$

and using convolution technique, see [17,18], it follows that, for $z \in E$, i = 1, 2

$$\left(h_{i}(z) + \frac{\beta z h_{i}'(z)}{h_{0}(z)}\right) \in P(\alpha).$$

Writing $h_i(z) = (1 - \alpha_1)p_i(z) + \alpha_1$, we have, from (3.4)

$$\left[(1-\alpha_{_{1}})p_{i}(z) + \alpha_{_{1}} - \alpha + \beta(1-\alpha_{_{1}}) \frac{zp_{i}'(z)}{h_{0}(z)} \right] \in P.$$

We now form the functional $\Psi(u,v)$, by choosing $u = p_i(z)$, $v = zp'_i(z)$,

$$\Psi(u,v) = (1 - \alpha_{_{1}})u + (\alpha_{_{1}} - \alpha) + \beta \frac{(1 - \alpha_{_{1}})v}{h_{0}(z)}.$$

The first two conditions of Lemma 2.3 are clearly satisfied. We verify (iii) as follows:

ReΨ(
$$iu_{2}, v_{1}$$
) = $(\alpha_{1} - \alpha) + \frac{\beta(1 - \alpha_{1})v_{1} \operatorname{Re} h_{0}(z)}{|h_{0}(z)|^{2}}$

=
$$(\alpha_{1} - \alpha) + \beta(1 - \alpha_{1})v_{1}\delta_{1}$$
, $\delta_{1} = \frac{\operatorname{Re} h_{0}(z)}{|h_{0}(z)|^{2}}$.

Now, for $v_1 \le \frac{-1}{2}(1+u_2^2)$, we have

ReΨ(
$$iu_{2}, v_{1}$$
) $\leq (\alpha_{1} - \alpha) - \frac{1}{2} \beta \delta_{1} (1 - \alpha_{1}) (1 + u_{2}^{2}),$

$$=\frac{1}{2}\left[\left(2\alpha_{_{1}}-2\alpha\right)-\beta\delta_{_{1}}(1-\alpha_{_{1}})-\beta\delta_{_{1}}(1-\alpha_{_{1}})u_{_{2}}^{2}\right]$$

$$=\frac{1}{2}(L+Mu_2^2),$$

where

$$L = 2(2\alpha_{_{1}} - 2\alpha) - \beta \delta_{1}(1 - \alpha_{_{1}}),$$

$$M = \beta \delta_{1}(1 - \alpha_{_{1}}) < 0.$$

Therefore $\text{Re}\Psi(iu_{_2},v_{_1}) \leq 0$, if $L \leq 0$ and this gives us α as defined by (3.2). Applying

Lemma 2.7, we conclude that $\operatorname{Re} p_i(z) > 0$ in E, i = 1, 2 and so $h_i \in P(\alpha_{_{\scriptscriptstyle 1}})$. Consequently $h \in P_k(\alpha_{_{\scriptscriptstyle 1}})$. This completes the proof that $f \in Q_k^{\lambda,\mu}(0,\alpha_{_{\scriptscriptstyle 1}})$.

Theorem 3.5. For $0 \le \beta_2 < \beta_1$, $Q_k^{d,c}(\beta_1,\alpha) \subset Q_k^{d,c}(\beta_2,\alpha)$.

Proof. For $\beta_2 = 0$, the proof is immediate from Theorem 3.5 Therefore we let $\beta_2 > 0$ and $f \in Q_k^{d,c}(\beta_1,\alpha)$. There exist two functions, $H_1, H_2 \in P_k(\alpha)$ such that, for $g \in C_{d,c}(\alpha)$, $H_2(z) = \left\{ (1-\beta_1) \frac{z(L(d,c)f(z))'}{L(d,c)g(z)} + \beta_1 \frac{(z(L(d,c)f(z))')'}{(L(d,c)g(z))'} \right\},$

$$H_1(z) = \frac{z(L(d,c)f(z))'}{L(d,c)g(z)} \in P_k(\alpha)$$
, by Theorem 3.4.

We use the fact that $P_k(\alpha)$ is a convex set and

$$\begin{split} \left\{ (1 - \beta_2) \frac{z(L(d,c)f(z))'}{L(d,c)g(z)} + \beta_2 \frac{(z(L(d,c)f(z))')'}{(L(d,c)g(z))'} \right\} \\ = \frac{\beta_2}{\beta_1} H_1(z) + \left(1 - \frac{\beta_2}{\beta_1}\right) H_2(z), \end{split}$$

we obtain the required result that $f \in Q_k^{d,c}(\beta_2,\alpha)$.

Remark 3.2. Since $\phi(d,c)(z)$ is convex for $0 < c \le d$, $c+d \ge 2$ by virtue of Lemma 2.1 and the class of close-to-convex functions is closed under convex convolution, we have

$$Q_2^{d,c}(\beta,\alpha) \subset Q_2^{d,c}(0,\alpha) \subset K(\alpha) \subset K \subset S.$$

We now derive a covering theorem.

Theorem 3.6. Let for 0 < c < d, $d + c \ge 2$, $f \in Q_2^{d,c}(\beta,\alpha)$. If B is the boundary of the image of E under f, then every point of B is at distance at least

$$\left\lceil \frac{2\mu(1+\beta)}{(1-\alpha)(1+\lambda)(3+\beta)+4\mu(1+\beta)} \right\rceil$$

from the origin.

Proof. Let $c \neq 0$, be any complex number such that $f(z) \neq c$ for $z \in E$. Then, by

Remark 3.2, $f(z) = \frac{cf(z)}{c - f(z)}$ is univalent in

E. Let f be given by (1.1). Then

$$\frac{cf(z)}{c - f(z)} = z + (a_2 + \frac{1}{c})z^2 + \cdots,$$

and hence

$$\left| a_2 + \frac{1}{c} \right| \le 2.$$

Now using triangular inequality and coefficient bound of $|a_2|$ for class $Q_k^{d,c}[\beta,\alpha,A,B]$ as proved in Theorem 3.2 in the above, we have

$$|c| \ge \frac{2d(1+\beta)}{(1-\alpha)(c)(3+\beta)+4c(1+\beta)}$$

which is the required result

The following result deals with the converse case of Theorem 3.4.

Theorem 3.7. Let $f \in Q_k^{d,c}(0,\alpha)$ in E.

Then $f \in Q_k^{d,c}(\beta,\alpha)$ for $|z| < r_\beta$, where

$$r_{\beta} = \frac{1}{1 + 2\beta},\tag{3.5}$$

This result is sharp.

Proof. Since $f \in Q_k^{d,c}(0,\alpha)$, there exists a function $L(d,c)g(z) \in C \subset S^*(\frac{1}{2})$, such that

$$\frac{z(L(d,c)f(z))'}{L(d,c)g(z)} = (1-\alpha)h(z) + \alpha, \ h \in P_k.$$
 (3.6)

Differentiating (3.6), we have

$$(z(L(d,c)f(z))')' = (L(d,c)g(z))(1-\alpha)h'(z)$$

$$+\{(1-\alpha)h(z)+\alpha\}(L(d,c)g(z))'$$

Since $Q_k^{d,c}(0,\alpha)$, we have

$$\begin{split} \frac{1}{1-\alpha} \left\{ (1-\beta) \frac{z(L(d,c)f(z))'}{L(d,c)g(z)} + \beta \frac{(z(L(d,c)f(z)')'}{(L(d,c)g(z))'} - \alpha \right\} \\ &= h(z) + \frac{\beta z h'(z)}{h_o(z)}, \end{split}$$

where $h_0(z) = \frac{z(L(d,c)g(z))'}{L(d,c)g(z)} \in P(\frac{1}{2}).$

Now using the same convolution technique, we have

$$\left(h(z)*\frac{\phi_{\beta}(z)}{z}\right) = \left\{h_1(z) + \frac{\beta z h_1'(z)}{h_0(z)}\right\}$$

$$= \left(\frac{k}{4} + \frac{1}{2}\right) \left[h_1(z) + \frac{\beta z h_1'(z)}{h_0(z)}\right] - \left(\frac{k}{4} - \frac{1}{2}\right) \left[h_2(z) + \frac{\beta z h_2'(z)}{h_0(z)}\right].$$

where $h_1, h_2 \in P$.

From this it follows that

$$\left\{h_i(z) + \frac{\beta z h_i'(z)}{h_0(z)}\right\} \in P \text{ for } i = 1, 2.$$

Using well-known results [2] for the class P and $P(\frac{1}{2})$ that

$$\left| z h_{i}^{'}(z) \right| \le \frac{2r \operatorname{Re} h_{i}(z)}{1 - r^{2}}, \operatorname{Re} h_{i}(z) \ge \frac{1 - r}{1 + r},$$

$$\operatorname{Re} h_{0}(z) > \frac{1}{1 - r},$$

we have

$$\operatorname{Re}\left\{h_{i}(z) + \frac{\beta z h_{i}'(z)}{h_{0}(z)}\right\} \ge \operatorname{Re}\left\{h_{i}(z) - \left|\frac{\beta z h_{i}'(z)}{h_{0}(z)}\right|\right\}, \quad (3.7)$$

$$\ge \operatorname{Re}h_{i}(z)\left\{1 - \frac{2\beta r}{1 - r}\right\}$$

$$= \operatorname{Re}h_{i}(z)\left\{\frac{1 - (1 + 2\beta)r}{1 - r}\right\}. \quad (3.8)$$

From (3.7), it is clear that

$$\operatorname{Re} \left\{ h_i(z) + \frac{\beta z h_i'(z)}{h_0(z)} \right\} \ge 0, \text{ for } r < r_{\beta}$$

and consequently it follows that

$$\left\{h(z) + \frac{\beta z h'(z)}{h_0(z)}\right\} \in P_k, \text{ for } |z| < r_\beta.$$

Hence $f \in Q_k^{\lambda,\mu}(\beta,\alpha)$, where r_β is given (3.5).

We obtain the sharpness of this result by taking

$$h_i(z) = \frac{1+z}{1-z}, \ h_0(z) = \frac{1}{1-z}.$$

This completes the proof.

Conclusion:

We introduce a subclass of analytic functions by using Hadamard product along with Janowski functions. Some inclusion results, radius of univalence and other interesting properties of this class are discussed.

In future work we intend to use formal approaches to prove theorem based on developed formal tools. The formal methods have many application in real life problems [19-32].

References:

- S. S. Miller and P. T. Mocanu, Differential subordinations theory and applications, Marcel Dekker, Inc. New York Basel, 2000.
- [2] A. W. Goodman, Univalent functions, Vol. I, II, Polygonal Publishing House, Washington, New Jersey, (1983)
- [3] B. C. Carlson and D. B. Shaffer, Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal., 15(1984) 737-745.
- [4] W. Janowski, Some extremal problems for certain families of analytic functions, Ann. Polon. Math., 28(1973) 297-326.
- [5] B. Pinchuk, Functions with bounded boundary rotation, Isr. J. Math., 10(1971) 7-16.
- [6] Y. Polatoglu, M. Bolcal, A. Sen and E. Yavuz, A study on the generalization of Janowski class in the unit disc, Acta. Mathe., 22(2006) 27-31.
- [7] W. Kaplan, Close-to-convex schlicht functions, Michigan Math. J., 1(1952) 169-185.
- [8] K. I. Noor and D. K. Thomas, On quasi-convex univalent functions, Internat. J. Math. Math. Sci., 3(1980) 255-266.
- [9] K. I. Noor, On quasi-convex functions and related topics, Internat. J. Math. Math. Sci., 10(1987) 241-258.
- [10] E. M. Silvia, Subclasses of close-to-convex functions, Internat. J. Math. Math. Sci. 6(1983) 449-458.
- [11] J. Sokol, Classes of analytic functions associated with the Choi-Saigo Srivastava operator, J. Math. Anal. Appl., 318(2006) 517-525.
- [12] J. Sokół, On some applications of the Dziok-Srivastava operator, Appl. Math. Comp. 201(2008), 774-780.
- [13] S. Ruscheweyh, Convolution in Geometric Function Theory, Les Presse. de Universite de Montreal, Montreal, 1982.
- [14] S. S. Miller, Differential inequalities and Caratheodory functions, Bull. Amer. Math. Soc., 81(1975) 79-81.
- [15] K. I. Noor, Classes of analytic functions defined by the Hadamard Product, New Zeal. J. Math., 24(1995), 53-64.
- [16] A. E. Livingston, On the radius of univalence of certain analytic functions, Proc. Amer. Math. Soc., 17(1966) 352-357.
- [17] K. I. Noor, S. Mustafa, B. Malik, On Some Classes of p-valent Functions Involving Carlson-- Shaffer Operator , Appl. Math. & Comp., (214)2009 336-341.

- [18] K. I. Noor, Applications of certain operators to the classes related with generalized Janowski functions, Integ. Tran. & Spec. Funct. 2(2010) 557-567.
- [19] Ahmad, F. and S. A. Khan (2012). "Module-based architecture for a periodic job-shop scheduling problem." Computers & Mathematics with Applications.
- [20] Ali, G., S. A. Khan, et al. (2012). "Formal modeling towards a dynamic organization of multi-agent systems using communicating X-machine and Z-notation." Indian Journal of Science and Technology 5(7).
- [21] Gul Afzal Khan, S. A. K., Nazir Ahmad Zafar, F.A.S.I. (2012). "A Review of different Approaches of Land Cover Mapping." Life Sci J 9(4).
- [22] Khan, S. A., A. A. Hashmi, et al. (2012). "Semantic Web Specification using Z-Notation." Life Science Journal 9(4).
- [23] Khan, S. A. and N. A. Zafar (2007). "Promotion of local to global operation in train control system." Journal of Digital Information Management 5(4): 231.
- [24] Khan, S. A. and N. A. Zafar (2009). Towards the formalization of railway interlocking system using Z-notations, IEEE.
- [25] Khan, S. A. and N. A. Zafar (2011). "Improving moving block railway system using fuzzy multi-agent specification language." Int. J. Innov. Computing, Inform. Control 7(7).
- [26] Khan, S. A., N. A. Zafar, et al. (2011). "Extending promotion to operate controller based on train's operation." International J. Phy. Sci 6(31): 7262 - 7270.
- [27] Khan, S. A., N. A. Zafar, et al. (2011). "Petri net modeling of railway crossing system using fuzzy brakes." International J. Phy. Sci 6(14): 3389-3397.
- [28] M, F. and S. A. Khan (2012). "Specification and Verification of Safety Properties along a Crossing Region in a Railway Network Control." Applied Mathematical Modelling, 10.1016/j.apm.2012.10.047.
- [29] Raza, M. I., Q. J. Zaib, et al. (2012). "Meticulous analysis of Semantic Data Model -An optimal approach for ERD." J. Basic. Appl. Sci. Res. 8(2): 8344-8354.
- [30] Yousaf, S., N. A. Zafar, et al. (2010). Formal analysis of departure procedure of air traffic control system, IEEE.
- [31] Zafar, N. A., S. A. Khan, et al. (2012). "Formal Modeling towards the Context Free Grammar." Life Science Journal 9(4)
- [32] Zafar, N. A., S. A. Khan, et al. (2012). "Towards the safety properties of moving block railway interlocking system." Int. J. Innovative Comput., Info & Control.

10/20/2012